MATHS
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COORDINATE GEOMETRY

1.Ifz > 0and y < 0, then (x-y) lies in which

quadrant ?



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E4DaujqbfXMZ

° Watch Video Solution

2.1f (x-y) € Q4 ,then (x,y) belongs to which

quadrant ?

o Watch Video Solution

3. Plot the points A( 2, 3), B(-1,2) , C (-3, -2) and

D (4,-2) in the XY -plane..

° Watch Video Solution



https://dl.doubtnut.com/l/_E4DaujqbfXMZ
https://dl.doubtnut.com/l/_ImMQWwI0JR2D
https://dl.doubtnut.com/l/_lrfuUQNHcuTO
https://dl.doubtnut.com/l/_pE6cbKWB1ZZd

4. Find the distance between points ( — 4, 5)

and (2,-3) .

o Watch Video Solution

5. Find a , if the distance between points A

(8, —7)and B ( — 4, a) is 13 units .

° Watch Video Solution



https://dl.doubtnut.com/l/_pE6cbKWB1ZZd
https://dl.doubtnut.com/l/_9Z6WxQfGk7zY

6. Find the coordinates of point on Y-axis
which is equidistant from points (13, 2) and

(12, — 3).

o Watch Video Solution

7.Show that points P(5,6) , Q (4,5) and R = (3,4)

are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_vhGadY464gx6
https://dl.doubtnut.com/l/_CCp8ntP9Ujz5

8.Show that points A(3,-1) , B(-1, 2) and C (6,3)
form an isosceles right -angled triangle when

joined .

o Watch Video Solution

9. Show that points (2 — /3,3 + 1), (1, 0)

and (3, 2) form an equilateral triangle .

° Watch Video Solution



https://dl.doubtnut.com/l/_hCDLGAu3cahS
https://dl.doubtnut.com/l/_tVeYtEykQ18D

10. Show that points A(-1, 0) , B(-2,1) , C(1,3) and

D(2,2) form a parallelogram .

o Watch Video Solution

11. Find the circum-centre and the circum-
radius of a triangle ABC formed by the

vertices A (2, —2),B(—1,1)and C (3, 1).

A. /8

B./b


https://dl.doubtnut.com/l/_MtwqorK7f7sg
https://dl.doubtnut.com/l/_rqig9DrPXgHf

C./6
D. /7

Answer: B

° Watch Video Solution

12. Find the area of the circle whose centre is

(-1,-2) and (3, 4) is a point on the circle..

o Watch Video Solution



https://dl.doubtnut.com/l/_rqig9DrPXgHf
https://dl.doubtnut.com/l/_A9lMb7isAjYc

13. Find the area of the square whose one pair

of opposite vertices are (2,-3) and (4,5).

o Watch Video Solution

14. Find the slope of the line joining points

(38)and ( — 9,6) .

o Watch Video Solution



https://dl.doubtnut.com/l/_sGBueZ7Y0gKN
https://dl.doubtnut.com/l/_PmYoo5DbwE8Q

15. Find the value of p if the slope of the

joining points (5,-p) and (2,-3) is 5

° Watch Video Solution

16. Find the value of k , if [ines AB and CD are
perpendicular , where A=(4,5) ,B=(k+2,3),C

=(-3,2) and D (2,4).

° Watch Video Solution



https://dl.doubtnut.com/l/_sRozPfqtgu2x
https://dl.doubtnut.com/l/_ncyMHRJggHSw

17. Find the value of k, if points (-2,-4) , B(k , -2)

and (3,4) are collinear .

o Watch Video Solution

18. Find the ortho-centre of the AABC

formed by vertices A(1,6) , B(5,2) and C(12,9) .

o Watch Video Solution



https://dl.doubtnut.com/l/_7hLCPuK8n7wV
https://dl.doubtnut.com/l/_cK0Pe74INIX6

19. The line | in Fig14.14 meets X-axis at A(-5,0)

and Y-axis at B(0,-3).

o Watch Video Solution

20. Find the equation of the line parallel to Y-

axis and passing though point (5,7) .

o Watch Video Solution



https://dl.doubtnut.com/l/_ewyXZSQml9HT
https://dl.doubtnut.com/l/_Ccw75PqsBtbk

21. Find the equation of the line passing

4
through (3,4) and having a slope 5

° Watch Video Solution

22. Find the equation of a line making

intercept 4 and 5 on the coordinate axes .

o Watch Video Solution



https://dl.doubtnut.com/l/_z0YLJ81pPj6Z
https://dl.doubtnut.com/l/_lakxhyTFnrFa

23. Find the equation of a line passing
through the point (-3,2) and parallel to line 4x

-3y-7=0.

o Watch Video Solution

24. Find the equation of a line passing
through point (-2,3) and perpendicular to 7x +

2y + 3 =0.

o Watch Video Solution



https://dl.doubtnut.com/l/_vcHdKwYrnJRE
https://dl.doubtnut.com/l/_hjry0YnIwu4P
https://dl.doubtnut.com/l/_4pkZvVv9UVPL

25. The line (8x + 3y - 15) + A(3x -8y +2) =0 is

parallel to X-axis . Find A.

° Watch Video Solution

26. The equation of the line joining through
the points of intersection of lines 2x -y +3 =0
and 3x + y + 7 = 0 and perpendicular to 2x - 3y

+4=0,is

(@) 3x+2y-70 (b)3x+2y+8=0 (c) 3x

+2y-8=0 (d)3x-2y+1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_4pkZvVv9UVPL
https://dl.doubtnut.com/l/_gj6hPZH7CYu7

27. The area of the figure formed by
x| + |y| = 2is (in sg. units)

(a) 2 (b) 4 (c) 6 (d) 8

o Watch Video Solution

28. The sum of the reciprocals of the

intercepts of a line is 3 , then the line passes

through the point is

1 1
@ @) (b)(2)) (c) (Z’ Z) (d) (2,2)

[ 1


https://dl.doubtnut.com/l/_gj6hPZH7CYu7
https://dl.doubtnut.com/l/_W1HyzDshzZDw
https://dl.doubtnut.com/l/_yuZK4Sec5yLm

I o Watch Video Solution

29. Find the mid-point of the line segment

joining the points (2,-6) and (6,-4) .

° Watch Video Solution

30. Find the centroid of AABC whose
vertices are  A(2, —3),B(4,2) and

C(—3, —2).

° Watch Video Solution



https://dl.doubtnut.com/l/_yuZK4Sec5yLm
https://dl.doubtnut.com/l/_f1E6SRCJO8m4
https://dl.doubtnut.com/l/_Fuv8fcBKWqiA

31. Find the third vertex of AABC , if two of

its vertices are A (-2,3) , B(4,5) and its C(1,2) .

° Watch Video Solution

32. Find the fourth vertex of the parallelogram

whose three consecutive vertices are

(87 8)7 (67 1) and ( o 17 1) .

A (1, 8)

B.(2,9)


https://dl.doubtnut.com/l/_TnPUcren6igf
https://dl.doubtnut.com/l/_HQweIUsk66QK

Answer: A

° Watch Video Solution

33. If the centroid of a triangle is (6,6) and its

ortho-centre is (0,0) then find its circum-centre

(a) (3,3) (b) (6,6) (c) (9,9) (d) (12,

12) .



https://dl.doubtnut.com/l/_HQweIUsk66QK
https://dl.doubtnut.com/l/_GXAHBZQcgwLI

\ ° Watch Video Solution

34.C(3,0) and D(3,1) are the points of trisection
of a line segment AB . Find the respective
coordinates of Aand B..

(a) (3,2),(3,0) (b) 3,-1),(3,2) (c) (-3,0),

(3,2) (d) None of these

° Watch Video Solution

Very Short Answer Question


https://dl.doubtnut.com/l/_GXAHBZQcgwLI
https://dl.doubtnut.com/l/_nYdFP4XsP2ft
https://dl.doubtnut.com/l/_8i4RuMHpVxmi

1.Ifx > 0and y < 0, then the point (x,7y) lies

in quadrant .

o Watch Video Solution

2. Which point among (2,3) ( — 3, —4) and

(1, — 7) is nearest to the origin ?

o Watch Video Solution

3. The line 2y + 3 = 0 and x = 3 intersect at


https://dl.doubtnut.com/l/_8i4RuMHpVxmi
https://dl.doubtnut.com/l/_NIBdbtu9JQ4E
https://dl.doubtnut.com/l/_EivbKuPV0Mdg

° Watch Video Solution

4. The points (0,0), (0,4) and (4,0) form a/an

triangle .

o Watch Video Solution

5. A linear equation in two variables is always a

° Watch Video Solution



https://dl.doubtnut.com/l/_EivbKuPV0Mdg
https://dl.doubtnut.com/l/_6LjBakDm6KYA
https://dl.doubtnut.com/l/_eVTN3LLNNTAd
https://dl.doubtnut.com/l/_RhgTAh3jplAg

6. The slope of the line ax + by + ¢ = 0 is

o Watch Video Solution

7. If (xy) represents a point and || > 0 and
y < 0 , then in which quadrant(s) can the

point lie ?

o Watch Video Solution



https://dl.doubtnut.com/l/_RhgTAh3jplAg
https://dl.doubtnut.com/l/_GVwaHTiGUM0H

8. The equation of a line parallel to Y-axis and

passing through ( — 3, — 4) is

o Watch Video Solution

9. The slope of the line perpendicular to the

line joining points (2,3) and ( —2,5) is

o Watch Video Solution



https://dl.doubtnut.com/l/_25LoPD2fcp05
https://dl.doubtnut.com/l/_UzOvfj3HB10O

10. The slope of altitude from A to BC of

triangle A (2,3) ,B(—3, 2) and C(3,5) is :

o Watch Video Solution

1. If the line % + % = m passes through

origin , then the value of m s

Al

B. 2


https://dl.doubtnut.com/l/_VJaAicJPolTh
https://dl.doubtnut.com/l/_igX8uV9zjxqW

D.0

Answer: D

o Watch Video Solution

12.If (x,y) represents a point and zy > 0, then

the point may lie in or

quadrant .

o Watch Video Solution



https://dl.doubtnut.com/l/_igX8uV9zjxqW
https://dl.doubtnut.com/l/_IEPXSjSvxlwB

13. The slope-intercept form of the line 2x + 3y

+5=0is

o Watch Video Solution

14.The line3x+2y+7=0and 6x + 4y + 9=0

are to each other.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hqo0ujE4PJgD
https://dl.doubtnut.com/l/_FSo5gbtmOFZt

15. The points (p,q +r) , (q, r+p) and (r, g+p) are

o Watch Video Solution

16. The area of triangle formed by the line y =

mx + ¢ with the coordinate axes is

o Watch Video Solution



https://dl.doubtnut.com/l/_YcbOnE7ku2o8
https://dl.doubtnut.com/l/_nxFQ2J96sSIq

17. The points (2,3) (-1,5) and (x,-2) form a

straight line , then x is

o Watch Video Solution

18. If the point ( x, y ) lies in the second

quadrant , then x is and vy is :

o Watch Video Solution



https://dl.doubtnut.com/l/_RJVDW3dlE3OE
https://dl.doubtnut.com/l/_IgZjOdAEXlCs

19. The angle between lines x =5 and x =7 is

o Watch Video Solution

20.The point of intersection of X-axis and 3x +

2y-5=0is

o Watch Video Solution



https://dl.doubtnut.com/l/_c1PTNpA2lg7x
https://dl.doubtnut.com/l/_QlwDHvC4KG08

21. If a = 0, then the line ax + by + c= 0 is

parallel to

o Watch Video Solution

22. The lines ajx +bjy+c =0 and
asx + byy + co = 0 are perpendicular to each

other, then

o Watch Video Solution



https://dl.doubtnut.com/l/_cmt5x9QpG6gq
https://dl.doubtnut.com/l/_ijEuhUndlqMY

23.The joint of intersection of X-axis and Y-axis

IS

o Watch Video Solution

24.The liney =k is parallel to axis .

o Watch Video Solution

25.A, B and C are three points such that AB =

AC + CB,then A,B and C are



https://dl.doubtnut.com/l/_ik3UgkbvNlIk
https://dl.doubtnut.com/l/_2t5xcOdlcN6L
https://dl.doubtnut.com/l/_NYQ4yUZlZsGk

o Watch Video Solution

26. The line ax + by + ¢ = 0 meets Y-axis at

point .

° Watch Video Solution

27.If slope of a line () is tan @ , then slope of a

line perpendicular to (l) is

o Watch Video Solution



https://dl.doubtnut.com/l/_NYQ4yUZlZsGk
https://dl.doubtnut.com/l/_VH5PAgWvOBac
https://dl.doubtnut.com/l/_sHUxoLXOYFEY
https://dl.doubtnut.com/l/_MMaMJhTTMkMz

28. The lines x = 2 and y = - 3 intersect in

quadrant .

o Watch Video Solution

29. The slope of a line which is parallel to the
line making an inclination of 45° with positive

X-axis is

o Watch Video Solution



https://dl.doubtnut.com/l/_MMaMJhTTMkMz
https://dl.doubtnut.com/l/_4ECncMdhxeXP

30. If the slope of two lines are equal , then

the lines are

o Watch Video Solution

Short Answer Type Questions

1. Find the equation of a line passing through

points A( — 2, 3) and B (4,7) .

° Watch Video Solution



https://dl.doubtnut.com/l/_DI5CTsT8m6iY
https://dl.doubtnut.com/l/_9bLzEN03tXyJ
https://dl.doubtnut.com/l/_CpjsOlfGKrzq

2. Find the area of the circle passing through

( — 2, 3) with centre (5,2) .

o Watch Video Solution

3.1f(2x +3y+ 1) + A (x-2y-3) =0 represents
the equation of a horizontal line , then find

the value of ).

o Watch Video Solution



https://dl.doubtnut.com/l/_CpjsOlfGKrzq
https://dl.doubtnut.com/l/_pbuGuD9wg6JN

4. et A(-3, 2) , B(4,1) and C(-2,k) be three points

such that AC =BC. Find the value of k.

o Watch Video Solution

5. Find the distance between points (2, -3) and

(4,6).

o Watch Video Solution



https://dl.doubtnut.com/l/_QtINQPFTJlWM
https://dl.doubtnut.com/l/_akGSbcCPs8T9

6. If the line 2z — ky + 6 = 0 passes through

the point (2, — 8), then find the value of k.

° Watch Video Solution

7. Find the area of square , whose diagonally

opposite vertices are ( — 2, 3) and (4,5) .

o Watch Video Solution



https://dl.doubtnut.com/l/_202ANGeRG9v1
https://dl.doubtnut.com/l/_o65htwu6Kp3P

8.IfA=(a+ b, a-b) and B (-a + b, -a-b), then

find the distance AB .

o Watch Video Solution

9. Find the intercepts made by the line 3x - 2y -

6 =0 on the coordinate axes .

o Watch Video Solution



https://dl.doubtnut.com/l/_0bJwpCGTs5ap
https://dl.doubtnut.com/l/_NqVjhJ4Gcv9U

10. Find the inclination of the Iline

V3T — 3y + 6 = 0.

o Watch Video Solution

1. Find the circum-centre of the triangle
whose vertices are A( — 3, — 1), B(1, 2) and

(0, — 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_TyCnU2bW6q6M
https://dl.doubtnut.com/l/_67jECu1g0acV

12. Find the equation of a line having

inclination 60° and making an intercept of

—1 _
—— on Y-axis .

3

o Watch Video Solution

13. Find the point on X-axis , which is

equidistant from A(6,3) and B( — 1,4) .

° Watch Video Solution



https://dl.doubtnut.com/l/_m0gUwOSJf6K2
https://dl.doubtnut.com/l/_A44kMG7FEPoO

14. Show that the points ( — 1, — 1) , (6,8) ,
(8,8) and (1,6) , when joined in the given order

form a rhombus .

o View Text Solution

15. Find the equation of a line , whose y-
intercept is —5 and passes through point A

(-3,2) .

o Watch Video Solution



https://dl.doubtnut.com/l/_oeZKcnRvjn3n
https://dl.doubtnut.com/l/_zCLgChnRR17X

Eassy Type Questions

1. Find the equations of the lines whose

intercepts are the roots of the equation

dz° — 3z —1=0.

° Watch Video Solution

2. The equation of one of the diagonals of a
rhombus is 3x + 4y - 7 = 0 . Find the equation
of the other diagonal passing through

(-1, —2).


https://dl.doubtnut.com/l/_AajnRbWEZWSp
https://dl.doubtnut.com/l/_qM97nUTGuhWT

° Watch Video Solution

3. Find the equation of the line passing
through ( —5,11) and making equal
intercepts , but opposite in magnitude on the

coordinate axes.

o Watch Video Solution

4.Find the equation of a line which forms area

5 sqg. units with the coordinate axes and


https://dl.doubtnut.com/l/_qM97nUTGuhWT
https://dl.doubtnut.com/l/_2M83fU9Bh023
https://dl.doubtnut.com/l/_fa2YpUHJjqd9

having sum of intercepts is 7.

o Watch Video Solution

5. If points A( 1,6) , B(5,2) and C(12,9) are three
consective vertices of a parallelogram , then

find the equation of the diagonal BD.

o Watch Video Solution

Concept Application Level 1


https://dl.doubtnut.com/l/_fa2YpUHJjqd9
https://dl.doubtnut.com/l/_8M7x2qv7rP6K

1.1f (1,-3) , (-2, 3) and (-2, 2) are three vertices of
a parallelogram taken in that order , then the

fourth vertex is

A(—1 —2)

B. (1, 2)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VwBo0A7QJ234

2. Find the equation of the line that passes
through point (5, —3) and makes an
intercept 4 on the X-axis .

Adr —y+12=0

B.3z +y+12=20

C3x—y—12=0

D.3z +y—12=0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_SefhuKX0PIKb

3. The inclination of line z — /3y +1 =10
with the positive X -axis is

A.60°

B.30°

C.45°

D.90°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PR3KdO4Fb9H8
https://dl.doubtnut.com/l/_FLLnw7rk4avD

4.The equation of the line perpendicular to Y-

axis and passing through point (-5,7) is

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FLLnw7rk4avD
https://dl.doubtnut.com/l/_wdFxQEIcANPs

5.1f (2,0) and (-2, 0) are the two vertices of an

equilateral triangle , then the third vertex can

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wdFxQEIcANPs

6.The point (a,b+c),(b,c+a)and (c,a+b)

o Watch Video Solution

7. The equation of the line making equal
intercepts and passing through the point (-1,4)

is

Ax-y=3

B.x+y+3=0

C.x+y=3


https://dl.doubtnut.com/l/_RSa9sv6DSBhz
https://dl.doubtnut.com/l/_Mw7KnBzQJnV5

D.x-y+3=0

Answer: C

o Watch Video Solution

8. The endpoints of the longest chord of a

circle are (-4,2) and (-6, - 8) . Find its centre..


https://dl.doubtnut.com/l/_Mw7KnBzQJnV5
https://dl.doubtnut.com/l/_YWJ3Ubpaw3iJ

D.(—5, —3)

Answer: D

° Watch Video Solution

9. The equation of the line passing through
point ( — 3, — 7) and making an intercept of
10 units on X-axis can be

A 4x+3y=-9

B.8x -3y =80


https://dl.doubtnut.com/l/_YWJ3Ubpaw3iJ
https://dl.doubtnut.com/l/_mrKaDO0es1ZB

C.7x-13y-70=0

D.7x+3y-70=0

Answer: C

O Watch Video Solution

10. The points on the Y-axis which are at a

distance of 5 units from (4,-1) are

A. (0,-2),(0,4)

B.(0,2) (O, -4)


https://dl.doubtnut.com/l/_mrKaDO0es1ZB
https://dl.doubtnut.com/l/_8H8C6MovKaFN

C.(0,2) (0,4)

D. (0,-2) (0, -4)

Answer: B

o Watch Video Solution

11. If the slope and the y-intercept of a line are
the roots of the equation 2 —Tr — 18 =0 ,

then the equation of the line can be

A2cr+y—9=0


https://dl.doubtnut.com/l/_8H8C6MovKaFN
https://dl.doubtnut.com/l/_dF5TkO6NQnq9

B.2r —y+9=0

CIr+y+2=0

D.9z +2y—2=0

Answer: A

o Watch Video Solution

12. If the points (k, k-1), (k+ 2,k + 1) and (k, k
+3) are three consective vertices of a square ,

then its area (in square units ) is


https://dl.doubtnut.com/l/_dF5TkO6NQnq9
https://dl.doubtnut.com/l/_tKc0DnPD9TyN

A2

B.4

C.8

D.6

Answer: C

o Watch Video Solution

13. The equation of the line making intercepts
of equal magnitude and opposite signs , and

passing through the point (-3,-5) is


https://dl.doubtnut.com/l/_tKc0DnPD9TyN
https://dl.doubtnut.com/l/_9ARIfabl3P3a

Ax —y=2

B.2r +y= —4

C.3x+3y=6

D.z —y= — 10
Answer: A

o Watch Video Solution

14.If the end points of the diameter of a circle
are (-2, 3) and (6, -3) , then the area of the

circle (in square units ) is


https://dl.doubtnut.com/l/_9ARIfabl3P3a
https://dl.doubtnut.com/l/_eAvM2wR4WlGT

550
A ——

540
560

550

Answer: D

o Watch Video Solution

15. The angle made by the line
V3 — y+ 3 = 0 with the positive direction

of X-axis is


https://dl.doubtnut.com/l/_eAvM2wR4WlGT
https://dl.doubtnut.com/l/_kr9mSuVsf2Z4

A. 30°

B.45°

C.60°

D.90°

Answer: C

o Watch Video Solution

16. The two lines 3x + 4y -6=0and 6x + ky -7 =
0 are such that any line which is perpendicular

to the first line is also perpendicular to the


https://dl.doubtnut.com/l/_kr9mSuVsf2Z4
https://dl.doubtnut.com/l/_ljzXB110rdiY

second line.

Then , k =

C.6

D.8

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ljzXB110rdiY

17.The line x =my,where m < 0, lies in the

quadrants .

A.1st , 2nd

B.2nd , 4th

C.3rd, 4th

D. 3rd, 1st

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l6qHVUNLnZLG
https://dl.doubtnut.com/l/_abr79kqg04xz

18. Find the area in square units , of the

rhombus with vertices (2,1) , (-5,2) , (-4, -5) and

(3,6) , taken in that order.

A 24

B. 48

C.36

D. 50

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_abr79kqg04xz
https://dl.doubtnut.com/l/_QJDofI9chjYK

19. The radius of a circle with centre (-2,3 ) is 5

units , then the point (2,5) lies

A. on the circle

B. inside the circle

C. outside the circle

D. None of the above.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QJDofI9chjYK

20. One end of the diameter of a circle with
the centre as origin is ( — 2,10) . Find the
other end of the diameter

A (—2, —10)

B.(0,0)

C.(2, —10)

D.( 2,10)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kDsrDfr0ieLg

21. If the roots of the quadratic equation
z? — 7z + 12 = 0 are intercepts of a line ,
then the equation of the line can be

A.2x+3y=6

B.4x + 3y =12

C.4x+3y=6

D.3x+4y =6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yrGOlhAii9XQ

22. Find the value of A , if the line
r—3y+4+ A8z —3y+2) =0 is parallel

to the X-axis .

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CmBbVypMBWIw

23. The slope of the line joining the points

(2,k —3)and (4,-7)is 3.Find k

A —10

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PcoIdr0lSzx7
https://dl.doubtnut.com/l/_VBGsGqBEuia8

24. The angle between the lines x =10 and y =

10 is

A.0°

B.90°

C.180°

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VBGsGqBEuia8

25. The two lines bz +3y+7=0 and
kx — 4y + 3 = 0 are perpendicular to the

same line . Find the value of k..

20
A ——

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UawjNQNvavWE

26.The linex-2y+3=0,3x-y=1and kx-y +1

=0 are concurrent . Find k..

>

@

Y N
M| ot o w N

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CDcAz7joGSje
https://dl.doubtnut.com/l/_nPTQ1lMaeTkH

27.Find the quadrant in which the line 2x + 3y

-1=0and 3x+y-5=0intersect each other.

A. 1st quadrant

B. 4th quadrant

C. 3rd quadrant

D. 2nd quadrant

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nPTQ1lMaeTkH

28. The circum-centre of the triangle formed

by points O (0,0) , A(6,0) and B (0O, 6) is

A. (3,3)

B. (2,2)

C.(1,)

D. (0,0)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RBZPxwRMegor

29.Thelines 3z —y+ 2 =0andx+3y+4=0

intersect each other in the line

A. 1st quadrant

B. 4th quadrant

C. 3rd quadrant

D. 2nd quadrant

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jGM1s5um67Yv
https://dl.doubtnut.com/l/_QAZraJS0jsYr

30. Centre of the circle is (a, b) . If (0,3) and

(2,0) are two points on a circle , then find the

relation between aand b .

A.da —6b—5=0

B.4a+6b-5=0

C.—4a+5=0

D.4a —6b+5 =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QAZraJS0jsYr

1. The equation of a line passing through P
(3,4) such that P bisects the part of it

intercepted between the coordinate axes is

A.3x+ 4y =25

B.4x + 3y =24

C.x-y=-1

D.x+y=7


https://dl.doubtnut.com/l/_wqrawyzZgq88

Answer: B

o Watch Video Solution

2. The line 7x + 4y = 28 cuts the coordinate

axes at A and B . If O is the origin , then the

ortho-centre of AOAB is .

A. (4,0)

B. (0,7)

C. (0,0)

D. None of these


https://dl.doubtnut.com/l/_wqrawyzZgq88
https://dl.doubtnut.com/l/_Hg9GvpFgc59Z

Answer: C

o Watch Video Solution

3. If the roots of the quadratic equation
z? — 5z + 6 = 0 are the intercepts of a line ,
then the equation of the line can be

A.2x+3y=6

B.3x+2y+6

C. Either (a) or (b)

D. None of these


https://dl.doubtnut.com/l/_Hg9GvpFgc59Z
https://dl.doubtnut.com/l/_e6anttpsl52J

Answer: C

o Watch Video Solution

4. The equation of the line whose x-intercept is
5, and which is parallel to the line joining the
points (3,2)and ( —4, —1)is__ .

Adr +Ty—20=0

B.3x-7y+3=0

C.3x+2y+15=0

D.3x-7y-15=0


https://dl.doubtnut.com/l/_e6anttpsl52J
https://dl.doubtnut.com/l/_cJU0zPcQlotT

Answer: D

o Watch Video Solution

5. Find the area of the triangle formed by the

line 3x - 4y + 12 = 0 with the coordinate axes .

A. 6 units’

B. 12units?

C. lunits?

D. 36units?


https://dl.doubtnut.com/l/_cJU0zPcQlotT
https://dl.doubtnut.com/l/_tjs6Soa5UTHp

Answer: A

o Watch Video Solution

6. The line joining the points (2m + 2, 2m) and
(2m + 1, 3) passes through (m +1, 1) , if the

values of m are

1
A5, — —
B.1, — 1
o, — 2
2, — 5
D.3, — -
3, - 3


https://dl.doubtnut.com/l/_tjs6Soa5UTHp
https://dl.doubtnut.com/l/_9AF1PoXBx4oq

Answer: C

o Watch Video Solution

7. The length (in units ) of the line joining the
points (4,3) and ( — 4, 9) intercepted between
the coordinate axes is

A.10

B.8

C.6

D. 4


https://dl.doubtnut.com/l/_9AF1PoXBx4oq
https://dl.doubtnut.com/l/_LSv3yTZNaKbH

Answer: A

o Watch Video Solution

8. The -equation of a line parallel to

8¢ — 3y + 15 = 0 and passing through the

point (-1,4) is

A.8x-3y-4=0

B.8x-3y-20=0

C.8x-3y+4=0

D.8x-3y+20=0


https://dl.doubtnut.com/l/_LSv3yTZNaKbH
https://dl.doubtnut.com/l/_asjlnAvZpJGG

Answer: D

o Watch Video Solution

9. (0,0) (3, \/g) and (0, 2\/5) are the three
vertices of a triangle . The distance between
the ortho-centre and the cirum-centre of the

triangle is .(in units ) .

A /3
B./5

C./6


https://dl.doubtnut.com/l/_asjlnAvZpJGG
https://dl.doubtnut.com/l/_g8Ra0EvjRRmm

D.O

Answer: D

o Watch Video Solution

10. In a parallelogram PQRS , P(15,9) ,Q (7,10),

R(-5,-4) , then the fourth vertex S is


https://dl.doubtnut.com/l/_g8Ra0EvjRRmm
https://dl.doubtnut.com/l/_eJ02U9SXu2wi

D.(3, —5)

Answer: D

° Watch Video Solution

1. If the roots of the quadratic equation
3z? — 2z — 1 = 0 are the intercepts of a line
then the line can be

A.x-3y-1=0

B.3x-y+1=0


https://dl.doubtnut.com/l/_eJ02U9SXu2wi
https://dl.doubtnut.com/l/_RG602X4fyMwJ

C. Either (a) or (b)

D. None of these

Answer: C

o Watch Video Solution

12. The length (in units ) of a line segment
intercepted between the coordinate axes by

the line joining the points (1,2) and (3,4) is


https://dl.doubtnut.com/l/_RG602X4fyMwJ
https://dl.doubtnut.com/l/_CTSa2ZdyqfU6

A 4
B.6

C.8

D./2

Answer: D

o Watch Video Solution

13.1f A=(3,4),B=(7,0) and C=(14 , -7) are the
three consecutive vertices of a parallelogram

ABCD , then find the slope of the diagonal BD .


https://dl.doubtnut.com/l/_CTSa2ZdyqfU6
https://dl.doubtnut.com/l/_R8OmEo7hSMxx

The following are the steps involved in solving
the above problem . Arrange them s

sequential order

w (EFT YO (3414 —4-7
2 T2 ) \T2 "7 2

(B) The sl fBD —u-0 -l
e siope o = = —.
P 10— 7 3
r+7 17 y+0 11
O —— =5 ad——-—

=z =10,y = — 11
- D= (10, — 11).

(D) Let the fourth vertex be D(x , y) . we know
that the diagonals of a parallelogram bisect

each other.


https://dl.doubtnut.com/l/_R8OmEo7hSMxx

A. AOCB

B. DCAB

C. DACB

D. CDAB

Answer: C

o Watch Video Solution

14. If A (1,6) , B= (5,-2) and C = (12, -9) are the
three consecutive vertices of a parallelogram

,then the find fourth vertex . The following are


https://dl.doubtnut.com/l/_R8OmEo7hSMxx
https://dl.doubtnut.com/l/_TIuDDS3wjJxx

the steps involved in solving the above
problem . Arrange them in sequential order
from beginning to end.

(A)

5te 13 —2+y 15
2 2’ 9 T~ "o T

and y =-13 . Therefore,D =(8,-13) .

(B)

C(5+z —2+y\ [1+12 —6-9
T2 2 ) T2 07 2

(C) Let the fourth vertex be D = (x,y) .

(D) We know that diagonals of a parallelogram

bisect each other.

A. ACBD


https://dl.doubtnut.com/l/_TIuDDS3wjJxx

B. ABDC

C. CBDA

D. CDBA

Answer: D

o Watch Video Solution

15. Find the product of intercepts made by the

line 7x - 2y - 14 = 0 with coordinate axes .

A —T7


https://dl.doubtnut.com/l/_TIuDDS3wjJxx
https://dl.doubtnut.com/l/_pVEjtZ5cAl0o

B.2

C.14

D.—14

Answer: D

o Watch Video Solution

16. Find the value of k , if points
(—2,5,(—5, —10) and (k, —13) are

collinear.


https://dl.doubtnut.com/l/_pVEjtZ5cAl0o
https://dl.doubtnut.com/l/_detHKRv5ngsV

D.5

Answer: B

o Watch Video Solution

17. The inclination of

YW —x+24=0,is___ .

the

line


https://dl.doubtnut.com/l/_detHKRv5ngsV
https://dl.doubtnut.com/l/_KJeVrhLkvKBj

A.60°

B.30°

C.45°

D.135°

Answer: B

o Watch Video Solution

18. Find the product of intercepts of the line 3x

+8y-24=0.


https://dl.doubtnut.com/l/_KJeVrhLkvKBj
https://dl.doubtnut.com/l/_IvJyZioHklKE

A.8

B. 24

C.3

D. 12

Answer: B

o Watch Video Solution

19. Find the value of k, if points (10, 14) , (-3,3)

and ( k, 8) are collinear.


https://dl.doubtnut.com/l/_IvJyZioHklKE
https://dl.doubtnut.com/l/_LakdmiFzkNGS

A.16

B.18

C.—18

D. —16

Answer: D

° Watch Video Solution

20. The inclination of the liney-x+11=0, s


https://dl.doubtnut.com/l/_LakdmiFzkNGS
https://dl.doubtnut.com/l/_3tRrZn7jqiU2

A. 30°

B.60°

C.0°

D. 45°

Answer: D

° Watch Video Solution

21. The equation of a line whose x-intercept is

-3 and which is parallel to 5x + 8y - 7 = 0 is


https://dl.doubtnut.com/l/_3tRrZn7jqiU2
https://dl.doubtnut.com/l/_FIxkUSNYnqhc

Abdr —8y+15=0

B.5x+8y-15=0

C.5x+8y-17=0

D.5x-8y-18=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FIxkUSNYnqhc

1. The area of a square with one of its vertices

as (5, -2) and the mid-points of the diagonals

(3,2) is .(In sqg. units)

A. 40

B. 20

C.60

D.70

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IyzeweP0SBVl

2. The equation of the line perpendicular to

the line inclined equally to the coordinate axes

and passing through (2,-3) is :

Ax+y+1=0

B.x-y-2=0

Cx+y+2=0

D.2x+y-1=0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IGtAzQsowxkB

3. A triangle is formed by points (6,0) , (0,0)

and (0,6) . How many points with the integer

coordinates are in the interior of the triangle ?

A7

B.6

C.8

D.10

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1KGjPwosUIfC

4. The equation of one of the diagonals of a

square is 3x - 8y + 4 = 0 . Find the equation of

the other diagonal passing through the vertex

(4,6) .

A.8x+3y-15=0

B.3x-8y-11=0

C.8x+3y-14=0

D.8x+3y+15=0

Answer: C

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_q9CIHlSd0xeX

5. What is the area of the triangle formed by

2x+3y=6 and the coordinate axes .(In

sg. units)

A. 12

B.9

C.6

D.3

Answer:



https://dl.doubtnut.com/l/_q9CIHlSd0xeX
https://dl.doubtnut.com/l/_pbqlDnKCz7X0

| ¥ Watch Video Solution ]

6. The equation of a line whose z-intercept is

11 and perpendicular to 3z — 8y +4 =0, is

A 7x+3y-77=0

B.-8x+3y+88=0

C.5x+3y-55=0

D.3x+8y-88=0

Answer: B



https://dl.doubtnut.com/l/_pbqlDnKCz7X0
https://dl.doubtnut.com/l/_uz2cS07rUcsj

\ o Watch Video Solution

7. A(-11,7) and B (-10,6) are the points of
trisection of a line segment PQ . Find the
coordinates of Pand Q..

A(—12,8),(—9,5)

B.(—12, —8),(—9,5)

C.(12,0),(9 ,-5)

D.(12,-8),(9,-5)

Answer: A


https://dl.doubtnut.com/l/_uz2cS07rUcsj
https://dl.doubtnut.com/l/_crPVsrx9fuZ3

° Watch Video Solution

8. If one of the diagonals of a rhombus is 3x -
4y + 10 = O , then find the equation of the
other diagonal which passes through point
(-2, —3).

A.4x+3y+17=0

B.3x-4y+15=0

C.4x+3y-15=0

D.3x-4y-11=0


https://dl.doubtnut.com/l/_crPVsrx9fuZ3
https://dl.doubtnut.com/l/_frainjvVSc3A

Answer: A

o Watch Video Solution

9. The equation of the diagonal AC of a
square ABCD is 3z + 4y + 12 = 0. Find the
equation of BD ,where Dis (2, — 3).

Adr —3y—8=0

B.dr — 3y — 17 =0

Cddr —3y+17=0

D.4r + 3y — 17 =0


https://dl.doubtnut.com/l/_frainjvVSc3A
https://dl.doubtnut.com/l/_opCqZoz3MRAC

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_opCqZoz3MRAC

